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Mathematics

1. Paresh is 14th from the left and Dileep is 16th from
the right in a line a student. When both Paresh and
Dileep interchange their positions, the position of
Dileep becomes 21st from the right. How many
students are there in the line? [SSC (Steno) 2020]

(a) 35 (b) 34

(c)33 (d) 36

2. The positions of Deepti and Mohan in a row are
14th from the left and 9th from the right respectively.
If they interchange their places, then Mohan will be
21st from the right, find the position of Deepti from
the left now and the total number of persons in the
row.

[RRB (NTPC) 2020]
(a) 24, 38 (b) 33, 27
(c) 26, 34 (d) 34, 26

3. Six people C, D, E, K, Land M are each of a different
height. E is shorter than only L. Only one person is
shorter than C. K is shorter than D but taller than M.
How many People are shorter than K?

[RRB (NTPC) 2022]
(b) Two
(d) More than three

(a) Three
(c) One

4. Five friends took a test. Payal scored more than
Komal. Reena scored less than Payal. Simi scored
more than Tanu but less than komal. Who among

them scored the highest? (SSC (Steno) 2021)
(a) Reena (b) Komal
(c) Payal (d) Tanu

5.A,B,C, D, E, Fand G went to a restaurant for dinner.
All of them contributed to the bill. Each person paid a
different amount. C paid more than E and F paid more
than A. B paid less than A. D paid the highest amount
and E paid the least amount. If G paid more than two
persons in the group. Which of the following
statement is correct? [SSC (Steno) 2021]

(a) B paid less than D and G

(b) A was among the lowest four payers

(c) F paid less than D but more than C
(d) G paid more than E but less than C.

6. In a group of five children (K, L, O, M, N) with
different heights. K is the tallest while L is the
shortest. O is the second shortest person in that
group. M is taller than N. Who among them is the

third tallest? [RRB (NTPC) 2022]
(@m (b)L
(c)o (d)N

7. Bella is taller than Shubham. Umesh is taller than
Shubham but shorter than Bella. Salman is shorter
than Rahul and Shubham. Shubham is taller than
Rahul. Who is the shortest in the group? [RRB (NTPC)

2020]
(a) Salman (b) Bella
(c) Rahul (d) Umesh

8.P,Q,R,S, T, Uand V are seven students in a class.
They are compared on the basis of their height. T is
shorter than S but taller than U. U is taller than P. R
and Q are shorter than V but taller than S. Which of
the following sequence of their height can be
possible? [RRB (NTPC) 2021]
(@A)v>Q>R>T>S>U>P
(b)V>R>Q>S>T>U>P
(c)V>R>Q>U>T>S>P
(d)v>Q>R>S>T>P<U

9. Seven chocolate A, B, C, D, E, F and Gare bought at
different costs between X 40 and X 50 (excluding 40
and 50) but not necessary in the same order. The cost
of chocolate Cis five less than that of chocolate E. The
cost of the chocolate A is a prime number. The cost of
chocolate F is two more than that of chocolate A. The
cost of chocolate F is more than that of chocolate E.
The cost of chocolate D is an odd number. The cost of
chocolate G is three more than the cost of chocolate
D. None of the chocolates costs X 44. The cost of
chocolate B is an even number. Which of the following
chocolates is costlier than E? [RRB (NTPC) 2020] Pa
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(a)D
(c)B

(b) G
(d)C

10. There are 6 contestants in a beauty pegeant.
Model Qs taller than model A but shorter than model
E. Model X is not as tall as model E but is taller than
model I. Model F is taller than model | but shorter
than model Q. Who among the following is the tallest.

[RRB (NTPC) 2021]
(a) Model F (b) Model Q
(c) Model E (d) Model A

Directions (Q. Nos. 11 - 13) Study the following
information and answer the given questions.

[1BPS (PO) 2016]

There are six wires in an extension box A, B, C, D, E
and F. They have different length, but not necessarily
in the same order. E is greater than C, but less than D
and B. A is greater than D and B. A is not longest wire.
Fis 13 cm long and E is 4 cm long.

11. If D is 5 cm less than F, what would be the length
of D?

(a)7cm

(c)9cm

(e) None of the above

(b) 8 cm
(d) Cannot be determined.

12. Which wire has least length?
(a)B (b) A
(c)C (d)E

(e) None of these

13. If A carry 10 cm length and B carry 5 cm length,
then what would be the length of C?

(a)6cm (b)2cm

()7 cm (d)9cm

(e) None of these

Directions (Q. Nos. 14 - 16) Study the given
information carefully to answer the given questions.
[NABARD (AM) 2016]

Six people J, K, L, M, N and O are holding a different
number of flowers, but not necessarily in the same
order. J holds less than L but more than N. M holds
less flowers than N but more than O. L does not hold
the greatest number of flowers. M holds 16 flowers.

14. Who amongst the following holds the third
highest number of flowers?

(@) N (b)O

()L (d)J

(e) Other than those given as options

15. How many people hold more flowers than L?

(a) Three (b) Two
(c) None (d) Four
(e) One

16. If the difference between the number of flowers
hold by M and J is 12, then how many flowers does N

possibly hold?

(@9 (b) 4
(c) 34 (d) 22
(e) 43

Directions (Q. Nos. 17 — 19) Read the information
carefully and answer the questions below.
[IBPS RRB (PO) 2021]

Six friends A, B, C, D, E and F have different weights. D
weights more than E but less than A who is not the
heaviest. B weights less than only two persons and he
weights 78 kg. C weights 8 kg more than D but 21 kg
less than A.

17. Who is the heaviest among all?

(@)A (b) B
(c)E (d) D
(e)F

18. If the average weight of A and B is 66 kg, what will

be the weight of A?
(a) 60 kg (b) 54 kg
(c) 66 kg (d) 70 kg Pa

e | 2

s

Copyright © All Rights Reserved | https://www.spardha.guru

www.spardha.guru

No 8, 24th Block Manasi Nagar Beside of Bliss
serviced Apartment, Mysuru, Karnataka 570029

info@spardha.guru
90711 54445, 90711 64446, 90711 74447



10 Years of Excellence

Sajome'rbd)

Spardhaguru India Private Limited

G spardhaguru2022 6 Spardhaguru Current affairs . Spardhagurul

0 SpardhaGuru

@Spardha.guru 7 www.spardha.guru

PYQRML Ranking Test

Mathematics

Spardhaguru India Private Limited

Vedic

(e) Can not be determined

19. Who has the second lowest weight among all?

(a)A (b)B
(c)C (d)D
(e)E

Directions (Q. Nos. 20 — 23) Study the following
information carefully and answer the questions given
below. [IBPS RRB (Clerk) 2013]

There are six personsi.e. A, B, C, D, Eand F who all are
of different weight. No two persons have same
weight. Only two persons are lighter than A. B is
heavier than A, but lighter than C and D. F is heavier
than E, but lighter than D. D is not the heaviest. The
weight of 2nd heaviest person is 115 kg and the
weight of lightest is 56 kg.

20. How many persons are heavier than F?
(a) One (b) Two

(c) Three (d) Four

(e) None of these

21. If the sum of weight of E and A is 131 kg and the
sum of weight of D and B is 213 kg, then what is the
sum of weight of A and B?

(a) 172 kg (b) 173 kg

(c)174 kg (d) 175 k

(e) None of these

22. Which among the following person is the 2nd
heaviest?

(a)A

(c)C

(e) None of these

(b) B
(d)D

23. Which of the following statement is true?
I. Only two persons are heavier than B.

Il. Sum of weight of D and E is 171 kg.

lll. Weight of E is 58 kg.

(a) Only 1l (b)land Il

(c)urand i
(e) Only I

(d) All are true

Directions (Q. Nos. 24 — 26) Study the following
information carefully and answer the questions given
below.
[SBI (PO) 2019]

There are six ropes i.e. E, F, G, H, | and J of different
lengths. Fis longer than E. | is longer than F. | is shorter
than only G. J is longer than F. E is not the shortest
rope. The length of 2nd longest rope is 54cm and 3rd
shortest rope is 30 cm.

24. Which of the following is 3rd longest rope?
(@)1 (b)J

(c)F (d) E

(e) Cannot be determined

25. What may be the possible length of J?

(a) 28 cm (b) 42 cm
(c) 25 cm (d) 55 cm
(e) 60 cm

26. Which of the following is 2nd shortest rope?
(@) (b) F

(c)E (d)H

(e) None of these

27. Umar reached the place of meeting 30 min before
time. Arvind reached 45 min late for the meeting. The
meeting finished at 11:00 am, 30 min after Arvind
reached the meeting. At what time did Umar arrive
for

the meeting? [MPPSC 2018]
(a) 9:00 am (b) 9:15am
(c) 9:30 am (d) 9:45 am

28. As | reached the station, | came to know that |
reached 30 min earlier. And the train was 1 h and 30
min late, so it arrived at 6:20. When did | reach the
station? [RRB (Gorakhpur) 2014]

(a) 4:40 O'clock

(b) 5:10 O clock Pa
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(c) 5: 20 O clock (d) 4:20 O'clock

29. Sneha correctly remembers that her father's
birthday is before 16th June but after 11th June
whereas, her younger brother correctly remembers
that their father's birthday is after 13th June but
before 18th June and her elder brother correctly
remembers that their father's birthday is on an even
date. On what

date, in June, is definitely their father's birthday?
[Vijaya Bank (Clerk) 2010]

(b) Twelfth

(d) Data inadequate

(a) Sixteenth
(c) Fourteenth
(e) None of these

30. Reaching the place of meeting on Tuesday 15 min
before 8:30 h, Akshat found himself half an hour
earlier than the man who was 40 min late. What was
the scheduled time of the meeting?

[SSC (10+2) 2010]
(a) 8:00 h (b) 8:05 h
(c)8:15h (d) 8:45 h

31. A bus for Delhi leaves every 30 min from a bus
stand. An enquiry clerk told a passenger that the bus
had already left 10 min ago and next but will leave at
9:35 am. At what time did the enquiry clerk give this
information to the passenger?

(a) 9:10 am (b) 8:55 am

(c) 9:08 am (d) 9:15 am

32. A person comes to meet his friend in the
afternoon at 12:30, he again comes at 1: 20 pm then
he comes third time at 2:30 pm and the fourth time
he comes at 4:00 pm. When will he come again?
[MPPSC 2017]
(a) 5:00 pm

(c) 5:50 pm

(b) 5:20 pm
(d) 6:10 pm

33. The Chairman of the Selection committee arrived
at the interview-room for conducting an interview at
10 min to 12:30 h. He was earlier by 20 min than the

other members of the board, who arrived late by 30
min. At what time were the interview scheduled?
[SSC (Investigator) 2005]

(b) 12:20

(d) 12:40

(a) 12:10
(c) 12:30

34. Praveen correctly remembers that his father's
birthday is after 21st May but before 27th May
whereas his sister correctly remembers that their
father's birthday is after 24th May but before 30th
May. On which day in May was definitely their

father's birthday? [MAT 2012]
(a) 25th (b) 24th
(c) 26th (d) 25th or 26th

35. The priest told the devotee, "The temple bell is
rung at regular intervals of 50 min. The last bell was
rung ten minutes ago. The next bell is due to be rung
at 7:50 am" At what time did the priest give this
information to the devotee?

[RRB 2002]
(@) 7:20 am (b) 7:30 am
(c) 7:10 am (d) 730 am
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